GN 480.8 M=)
TEEN-1B s Rk 2

bl 2o

3
bl
TEN a
- AISI 304
- A, RERMNLT L
BER
GN 480.8 Bk Eas A B E U, RIS R ENEE, IR RER 6
RS EEEE L,
d /| BB ERAIRBLSHENBRER. =
BRES
- REEFE (BT A26) 8
- 1ISO BARRNE (BT A21)
9
10
11
<
<<
12
I
- _Q
T O ’riA*fo‘l’ 13
B f o
—— t |~ ﬁ 14
ly
15
iz B
16
S
17
18
GN 474
SeEgat 19
20
GN 473
REREREN
©
[ ]
77|<
GN 480.8 FE $
L)z di h9 d2-t I A/F 52 4
GN 480.8-D10-M5 D10 M5-85 30 8 14
GN 480.8-D10-M6 D10 M6-10.5 30 8 13
GN 480.8-D12-M7 D12 M7-115 30 10 18
GN 480.8-D12-M8x1 D12 M 8x1 - 10 30 10 16
GN 480.8-D15-M10x1 D15 M 10x1 - 10 35 13 29
GN 480.8-D15-G1/8 D15 G1/8-8 35 13 30
GN 480.8-D16-M12x1,5 D16 M12x1.5 - 14 35 14 37
GN 480.8-D16-G1/8 D16 G1/8-8 35 14 37
GN 480.8-D20-M16x1,5 D20 M 16x1.5 - 15 40 18 40
GN 480.8-D20-G3/8 D 20 G3/8-12 40 18 36
GN 480.8-D20-G1/4 D20 Gl/4-12 40 18 40

ELESA 70l GANTER {4 RBIF AT, | ﬂe
FHIR BB R s+GANTER 572021 1889



